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101|R#A7 L 188 66 122 Kg |&NI 1,620 108| £ 4,860 216
102|357 L 1,742 1,742 Kg BIE 1,566 694
111|&EEF £ 1,164 25| 1,139 Kg |[EREEB 1,242 1,188|E R B 1,728 286
113|RAV S 78 44 34| Kg |EE 864 702| 4,320 648
114|B5EFE 150 150 Kg e 2,862 2,000
15[ 1= Kg |EfE 1,187
117[1E 219 60 159| Kg |@8 1,080 864| £ 3,780 324
121|rblE &€ 23 15 8| Keg |@E& 1,404 216|5fE 1,405 1,404
134[#= = 279 152 127| Kg |@8 - =45 2,600 1,200(185 3,024 1,080
137|&5E.3. < 85 55 30| Kg |BE 3,564 3,240| &R 3,564 1,188
140(5 I 7 71 Ke e[AEs 49,500 31,500
147|EZ O 91 2 89| Kg |EE 10,800 1,080| 5 - K& 10,800 2,484
158|EIEA A LS 221 221|  Kg /Il 2,268 1,080
201{Lvb L 695 695| Kg RI5 432 300
203|/hd L 88 88| Kg =40 432 288
205|3.3 L 28 28| Kg K5 594 486
206| = 1F 485 485| Kg AR 1,440 216
207|= A K 544 544  Kg imE 4,050 270
208| Mo % 455 455|  Kg X 1,728 432
2094 B & L 277 25 252| Kg [iLm@ 1,080 940| =45 756 324
210|1F ALy 76 76 Kg [wiO 4,860 2,120
212|&FE3 Y 261 261 Kg &I - @A 2,214 1,100
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251K A FELCH 256 256 Kg |2 3,456 3,024

254|EDT2ELCAH 758 31 727 Kg |@* 1,631 FE 2,160 1,166
303[A 27z 46 6 40| Kg |RIE 329 Al 600
305|xAah>0b 1 1 Kg FJE 3,780

306|Le &Y 22 12 10 Kg [MIF&K 810 ik 1,728

315|7: b5 6 10 10| Kg = I 3,888

3191 h o 550 300 250 Kg |EE 2,052 540|318 - &= 1,404 351
332|115 WA EF 253 253 Kg JbF 2,052 1,728
3BlHHY 45 5 40| Kg |8&BE 3,240 L4 6,264 3,132
3541 <Y 109 71 38| Kg |FF 1,944 1512|F% 2,268 1,296
3/5|HEY 95 95| Kg timE - P E 1,188 600
356|L L& 57 571 Kg SHR 1,080 540
3577/~ E 27 27 Kg FEE 4,104 1,080
358| KB 10 10 Kg |EH 1,944 1,728

362(m & 15 15| Kg FE 1,620

401|H W 20 20| Kg Iz & 1,620 1,296
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504[BFEH AT LD 25 25 Kg A 1,134
507[m—u 10 10| Kg [E2D3] 810
12| E ML 90 90 Kg JbiF 1,450 1,300
S23[mE=BAT A U 412 412 Kg [E2D3] 3,600 473
B4 ET E XV 90 90 Kg A 1,728 1,180
4| 1E A AR 80 80 Kg F 950 850
558 |7 10 10 Kg JbiF 1,296
560(%E 7= 2 479 479 Kg [E2D3] 3,771 900
ST6[/&EE T 20 20 Kg A 2,430 1,620
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70110 BA 942 704 238 Kg |EE 2,646 1,760| k% 1,848 1,296
71019 2 ®HA0F 18 18] Kg =l 1,163 1,119
7511 EFFHh N 14 141 Kg SR 1,782
755(Fd L 30 301 Kg B 803 728
56| £ 9 52 52| Kg 3 1,588 1,151
7611 b BHAEL 18 18 Kg & 2,121 1,980
801 [3BAT = 1S 616 616 Kg bEE - mA 1,944 1,000
802 1 58 58] Kg 2Dzl 1,836 216
805 = 1E 751 751 Kg bF 1,080 432
807 [1BHDF 6 6 Kg biF 4,860
810|FAKF 192 192 Kg bF 2,638 1,560
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